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Tobic Question |Question Option1 Option2 Option3 Option4 Correct
P No option
Apptitude P1 UdhT Gichided AT AGNI & eree BHOJ 31@T folgdll d¥ </ Iich| PRUTHVI AKBUJ LMLUJ 3
Apptitude P2  |UT Hichidd HNA CAT & QTeg BBS 31@T folgdll d¥ I Hidhide POT ROT 1
Apptitude P3 | TAPE = 2175, NOME = 5645, aX DANGER = ? 41147518 4114759 415796, 2
Apptitude P4  |UIITCl 315 Facel, SIadTell Pl Focel, DTl 3l Facdl, SIFdTell 3ld ' Pl 2
Apptitude P5 3@'1“0'“239”6E6'§'ii' wHfITeA ST BT AT 2 126 136 3
Apptitude P6 2@'35“55' 37”3'5"“ wHfITeA ST BT AT 2 9 12| 2
_ wrier FfeRhd wHeETea S P e 2
Apptitude P7 112 3 6,9, 18, 27, 54,2
Apptitude P8  |taT fUS-Id 12 W §d deeh, 11 HIgd dd AR, 17 HIg 9 TN
Apptitude P9  |WTolldl 3EIEUT AlsdT T 3R TG f@dsr. (13X 3-6) +11X2
Apptitude P10 |€iZITem aTg FEcd, ararel g Feced, Riarem gRor Fed, Wt
Apptitude P11  |2000 ITell &7 T IEART 3l dX 2001 ATell YT feed <
Apptitude P12 [3#A™ 1994 =1 fash ATaR 3 oX <1 auar 10 ARe 1 f
Apptitude P13 | dheledT 3aTAd AT 31T &d SR Ui R grafdd 3
_ Grellel 3610l HiZdT g 3T JARITg fAdsT.
Apptitude P14 50 -4x5+8=2=7
. Grellel 3610l HiZdT g 3T JARITg fAdsT.
Apptitude P15 16X5-10+4-3=2
. . . ratin Lan Text
C Language P16  |Which of the following can be developed using ‘C’ language? Operating a gu_a ge e_
Systems Compilers |Editors
i High-level, |Middle
A compiler processes the language and Low-level, g
C Language P17 . Middle Level, 1
transforms them into language. Assembly
Level Low-level
The execution of the program starts with the first statement .
C Language P18 © execution ot the p 09 am starts € Tirst stateme local start begin 3
of the function.
Middle i
. .. . High level |[None of
C Language P19  |Which of the following is referred as machine language? level gh feve one o 1
language  |these
language
Global Main
C Language P20  |Which of the following should be written first in a C program? declaration function Statements 1

Page 1 of 4

S




CDCCB Question Paper Programmer

. Lo Machine Procedural |Assembly
C Language P21 Which of the following is not a language type? Language Language  |Language
C Language P22 Which of the following is an application of C language? Keyboard Mouse Modem
C Language P23 data type is one of the derived data type. int float char
C Language P24 Which of the following are the fundamental data types in C? int float char
. double double
C Language pos All the escapecﬁz(rq:cetr;(rze characters are started with the I;))rward slash forward backslash
' slash (//) (\\)
A program contains a list of ingredients called statements, |Both A None of
C Language P26 . . . .
and a list of directions called variables |and B these
indicates that a function or the variable can be Global Local Header
C Language P27 . . . .
declared there and accessed from anywhere in the program. variables  |variables  |Files
Which of the following provides the result after checking th .
C Language P28 ch of the following provides the result after checking the Assembler |Builder Interpreter
whole program?
Object code produced by a compiler is passed through a
C Language P29 , which combines and gives real values to all Assembler |Compiler | Interpreter
symbolic addresses and produces the machine code.
C Language P30 Which of the following operator has the higher priority? addition (+) ?_L)Jbtractlon illflvgs&)
. Choose the correct type of sentence : Compoun .
English P31 . . ) . . Complex |Negative
9 Having finished his exercise, he put away his book. d P g
. Choose the correct type of sentence : . Compoun .
English P32 : o Simple Negative
9 He worked hard that he might pass the examination. P d g
. h th rrect t f sentence : . .
English P33 Choose the correct type .0 S.e ence . Simple Complex |Negative
You must hurry or you will miss the train.
. h th rrect t fcl :
English P34 Choose the correct type of ¢ al.Jse . Noun Claust Adverb ClgAdverb Cla
He could not answer the questions that | asked him.
. Choose the correct type of clause : .
English P35 ) : N Noun Claus¢Adjective CAdverb Cla
9 A donkey is not as stupid as we think it to be. :
. Use proper modal auxiliaries.
English P36 . o Could Have to must
9 Is it all right if | open the door?
: Complete the following. .
English P37 . . must will ma
9 Every Village school ........ have a trained teacher. Y
English P38 | Choose the correct meanings of ‘call off to postpone to give call/to call som
English P39 |Select the correct meaning of — Industry is the mother of Industry leac¢Industrializ To prosper
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English P40  |Complete the following sentence : By the time | reach home 1 Finished Will finishe Will had fir 2
English P41 |The painter ............... a picture of the sunset. draws |are drawin(were drawi 1
English P42  |Find the word similar in meaning ‘loyal’ — FALSE TRUE Legal 3
English P43  |Find the Antonym for ‘Spendthrift * Extravagant Bankrupt |generous 2
English P44 |Find the misspelt word from- Language country 3
English P45 |The penis ---------- than the sword. Might The mighte More might 2
7Y e SfHer forr 2013 wefie qata agnrer HeT EQRER
GK pag | o =34 AT T o o 2
T "aTg I 2 FATHIATI | AT
9 2012-13 =T IT=THT eh TLERTL Thl [ ------ RIGH
. 047 2d Tl ERTE ThdT= PSR 5
STE ¥ AT,
- pgg | TTT e ATerer R AT A(T 6T g TEAT HI0TeAT 3
9T AT g ?
2,11 ufder 2013 TSt 9TEAT ----- T LML TEHTATA .
GK P49 CIRSIEN] 1
T HLTL el
- o5 SR TTET qAOTIah TEahl o<l Tigat AT (e
HATS AIGAT WaaTg HI ?
- oy | FEEATH ATAINT AT TeATEA TRl SITEd FguTsT 162 T[0T
el agrRTg e w1 &0 ?
GK P52  ||F R0 ¢R-93 AT OIS [ERTE FHIVITH TTEIT ATAT ?
TETHT T TeTHh T Tl H=aT IT=eAT quid T
GK P53 - AT
UL TSTegl Hhordr ?
TIEALT AgT0T STPHLTATeRT AUTAT FRTAT TGBT ------ T
GK P54 AT
QT geT.
- s | T T FHIENT TAET gaae TRTIoa= FElel odeh
EEEIEKS
GK P56 |dSTTHI ACATEH & 0T a9TH a9 e ?
- o57 U 2013 He qaTg ~ATITAATH ~ATIHAT T A
TETTETEA ST+ T I ?
GK P58  |Fwid TET ATEAS HAT 0T SATRd ?
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GK P59 | ‘o ATShI" AT e favgels For smga ?
GK P60 | ATIATAIS ST qeaTa¥ ATeqeard sferel Tigel 1T HIITA?
Marathi P61 | '3fITEE! MG ATH T3 GaT FADPRIET YhR HIOTAT ?
Marathi P62 |HATADINGR FEU DO STl STl ?
Marathi P63 | WTelleTlehl &hIUTd 3TefATIdD &ATel ?
Marathi P64  |WTellcl feeledT Qregridl 'hRIed MG PIUTAT ?
Marathi P65 | IMSIT HERIST IO B ?

_ TE TESUIR AT e, HHFHTS! Teolell AT Qe
Marathi P66

3@ ?

Marathi P67 | 'ATSIT fAATA Th GIUC 3UTel. ' YT Hisd@r ?
Marathi P68 TMerdior & deadr Hiof forgrelT 2
Marathi P69 |FTSI HTNT UIfOIAT 31 IVTe Fgcel Sid ?
Marathi P70 | 'UfTed AT Qegrdn fawg 37t ereg Mes@r ?
Marathi P71 |Q[€cl@d TOIT 3 U INBWT ?
Marathi P72 ST & drcadr diofl foreelr ?
Marathi P73 |faast wdl FEUA SioTem i@ I ?
Marathi P74 |eX Iodasard Uil BV ?
Marathi P75 |3mYfies aTeT faeTrerren aram ol arcern ?
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